Nombres et Racines Quatriemes (H)

Trouvez la racine ou calculez I'exposant.

V256 = A129 = %1 =
416 = ¥3 = 41 -
Y625 = 4129 = %1 =
Y625 = A1296 = 42401 =
Y10000 = 6561 = Hesel =
204 = 124 = 114 =
13+ = 6* = 184 =
15+ = 34 = 54 =
194 = 13+ = 44 =
18* = 16* = 24 =
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Nombres et Racines Quatriemes (H) Solutions

Trouvez la racine ou calculez I'exposant.

256 =4

V16 =2

V625 =5

Y625 =5

¥10000 =10
20* =160000
13* =28561
15* =50625
19* =130321
18* =104976

Y1296 =6

V81 =3

V1296 =6

V1 296 =6

V6 561 =9
12* =20736
6* =1296
3* =81
13* =28561
16* =65536

V1 =1

V1 =1

V1 =1

Y2 401 =7

V6 561 =9
11* = 14641
18* =104976
5% =625
4* =256
2 =16
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